NOTE:ALL MATERIAL COMPLIANT ROHS STANDARD

F (x1) G (x1)

I (x8)

J (x2)

(o

M6x14 (x4) M8x20 (x4)
M-C -D

M5x14 (x4)
M-B

M4x14 (x4)
M-A M

© il

AA

3
/g
5

136mm

REVISION INFORMATION
Modified By Brief Description

Rev. | Rev. Date

+5°>
-12°

D8 (x4)
M-F M-G (x8)
=g
W-A (x3) W-B (x3) W-C (x3)
Sales@LANshack.com | 888-568-1230
® Unless specified on the | DRAWN BY | DATE: DESCRIPTION:
o) S;?\;vggsafgl?cl)ewr:_nces are 2021/1/29 Full Motion TV Wall Mount
@ : +1 | CHECKED BY || SHEET 1of1 |[ITEMNO. WM-TVM-13-421-107
X +0.2
NO. | PART NAME SPECIFICATION DESCRIPTION QT'Y UNIT XX +0.05 | APPROVED BY || SCALE 1:1 ”REV. 00 ”UNIT:mm ||-@— -




